2025 #12 T ¥ a4 a—X Bk Yy

llkmT > aAfa2—X B 1 937 28 FHIE 0:58:31 11
1llkmT>Y a4 a2—2 B 2 904 AN 8 =88 0:59:27 43
llkmT > afa2—X B 3 709 HH HtE —EHE 1:00:57 47
1lkmT>> a1 a3—X B 4 710 FEE  FIEA I & 18 1:03:07 49
1lkmT>¥Y 3/ 31—2 5 5 832 o Rt =88R 1:04:06 41
llkmT>>Y a4 a2—2 B 6 705 ‘AR E— =58 1:05:50 56
llkmT > aAfa2—X B 7 949 AN == —EHE 1:06:15 40
llkmT > afa2—X B 8 706 HA B FHIE 1:06:24 49
1lkmT>Y 3/ 31—2 5 9 727 R FR =88R 1:06:44 12
llkmT>>Y a4 a2—2 B 10 787 Ea B =88 1:08:07 32
llkmT > aAfa2—X B 11 957 YL NFaRNEAR 1:08:28 41
1lkmT>¥Y 3/ 3—2 5 12 726 R BN =88R 1:09:11 44
llkmT>Y a4 a2—2 B 13 722 FE B =58 1:09:45 41
llkmT > aAfa2—X B 14 177 M JRRER —EHE 1:10:30 27
llkmT > aAfa2—X B 15 735 A # —EHE 1:10:48 47
llkmT > aAfa2—X B 16 776 FH —E —EHE 1:10:58 47
llkmT > aAfa2—X B 17 748 A 42HA FHE 1:11:00 39
1lkmT>Y 3/ 3—2 5 18 734 wH EE =88R 1:11:04 52
1lkmT>>afa3—X B 19 757 RS FHE 1:11:10 16
llkmT > aAfa2—X B 20 708 I F— —EHE 1:11:28 56
1lkmT>Y 3/ 31—2 5 21 954 xHF EE B 1:12:45 27
llkmT > afa2—X B 22 762 g 5— FHIE 1:13:27 56
llkmT > aAfa2—X B 23 995 JIAT BA FHE 1:14:18 39
llkmT > aAfa2—X B 24 715 HO B FHE 1:14:39 43
llkmZT > aAfa2—X B 25 1001 LT B =y=cf L] 1:15:54 35
llkmZT > aAfa2—X B 26 1045 e I —EHE 1:17:05 20
llkmT > afa2—X B 27 741 s £ FHE 1:17:38 45
1lkmT>>afa3—X B 28 928 AH BE =88 1:17:42 29
1lkmT>>af3—X B 29 779 KB HE I B 12 1:18:48 41
llkmZT > aAfa2—X B 30 950 2 Kk FHIE 1:19:21 41
llkmT > aAfa2—X B 31 895 EE BHE FHIE 1:19:34 49
llkmT > afa2—X B 32 896 A= I == FHE 1:20:17 66
1lkmT>>afa3—X B 33 848 e EiE =)oy L] 1:21:43 49
llkmZT > aAfa2—X B 34 984 N B&E FHE 1:21:51 50
1lkmT>¥Y 3/ 3—2 5 35 998 Mol a8 =58 1:22:45 31
llkmT > aAfa2—X B 36 1031 EE ®wE —EHE 1:22:51 24
llkmZT > aAfa2—X B 37 914 FE HEO —EHE 1:23:23 11
llkmT > aAfa2—X B 38 807 HE A FHE 1:23:51 28
1llkmT>>Y a4 a2—2 B 39 952 EHE OBA =88 1:24:17 53
llkmT > aAfa2—X B 40 1043 N = —EHE 1:24:23 64
llkmZT > aAfa2—X B 41 767 VNS N —EHE 1:24:48 43
1llkmT>>Y a4 a2—2 B 42 968 FE Bk =58 1:24:56 46
1lkmT>Y 3/ 31—2 5 43 881 INFR ERE =88R 1:25:20 43
1llkmT>Y a4 a2—2 B 44 915 EHE M =88 1:25:54 27
llkmT > aAfa2—X B 45 834 V=) FHE 1:26:12 48
1llkmT>Y a4 a2—2 B 46 843 A R FHE 1:27:16 58
llkmT > aAfa2—X B 47 800 Eil K& =58 1:27:17 48
1lkmT>Y 3/ a31—2 5 48 736 Bl #z )R 1:28:02 60
llkmZT > aAfa2—X B 49 743 WER IhE =58 1:28:46 13




1lkmT>> a3 3—X BF 50 962 FR —4% ZEE 1:28:52 40
1lkmT>> a3 3—X BF 51 948 HE BEH ZEE 1:28:57 53
1llkmT>>aAfa2—X BF 52 1027 EE Zt ZEE 1:29:20 28
1lkmT>> a3 3—X BF 53 1002 Bl & ZEE 1:29:26 28
1lkmT>> 3 3—X BF 54 913 TFE B2 ZEE 1:29:44 50
1lkmT>> a3 3—X BF 55 1039 FrE 2R ZEE 1:29:50 33
1lkmT>> a3 3—X BF 56 964 TR R ZEE 1:29:54 58
1lkmT>> 33— BF 57 844 R {R— FHIE 1:29:55 54
1lkmT>> a3 3—X BF 58 969 B IEH FRIE 1:30:03 48
1lkmZ> ¥ a4 a3—X BF 59 958 nE 8 RIS 1:30:19 41
1lkmT>> a3 3—X BF 60 846 (/NS5 =—EEB 1:30:24 49
1lkmT>> a3 3—X BF 61 792 %pE BAM FHE 1:30:31 66
1lkmT>> 33— BF 62 775 BH Ak Iz B2 12 1:30:45 64
1lkmT>> 33— BF 63 870 BE & ZEE 1:30:53 38
1lkmT>> 3 3—X BF 64 772 E S ZEE 1:31:02 67
1lkmT>> a3 3—X BF 65 897 KA EKRER FHE 1:31:12 11
1lkmT>> 3 3—X BF 66 712 mwe H ZEE 1:31:24 50
1lkmT>> 33— BF 67 754 R ED FHE 1:31:33 52
1lkmT>>YaAfa2—X BF 68 720 FEE - FHE 1:31:38 66
1lkmT>> 3 3—X BF 69 804 B ME—EBB FHE 1:32:02 48
1lkmT > s a3—X BF 70 703 e ek )R 1:32:12 68
1lkmT >3 3—X BF 71 991 = A ZEE 1:32:45 41
1lkmT>>aAfa2—X BF 72 806 FrE —1 FHE 1:32:48 51
1lkmT>> 33— BF 73 941 Hg ZEE 1:32:59 48
1lkmT>> 33— BF 74 1030 @R EE FHE 1:33:13 39
1lkmT>> 33— BF 75 1011 Rk K ZEE 1:33:30 36
1lkmT>> a3 3—X BF 76 789 HI HE ZEE 1:33:44 36
1lkmT>> 33— BF 7 994 WE At ZEE 1:34:01 35
1lkmT>> 33— BF 78 1026 ARE 1EE ZEE 1:34:08 42
1llkmT>>aAfa2—X BF 79 719 B B ZEE 1:34:11 55
1lkmT>> 33— BF 80 975 RS, % i s ZEE 1:34:31 54
1lkmT >3 3—X BF 81 931 LA IEA FHE 1:34:49 46
1lkmT>> 33— BF 82 713 WA A ZEE 1:35:11 45
1lkmT>> 3 3—X BF 83 935 FIg 3t FHE 1:35:24 29
1lkmT>> 33— BF 84 830 A B FHE 1:35:30 53
1lkmT>> a3 3—X BF 85 790 HF X FHE 1:35:40 36
1lkmT>> 33— BF 86 770 R MR FHE 1:35:51 53
1lkmT>> 33— BF 87 993 BH O EF FHE 1:36:55 40
1lkmT>> 33— BF 88 851 SlE  #H ZEE 1:37:16 52
1lkmT>> 33— BF 89 716 B KA FHE 1:37:26 53
1lkmT>> 33— BF 90 978 BR BEF Y= 1:37:26 44
1llkmT>>aAfa2—X BF 91 850 hnEE  fR —H8 1:37:32 59
1lkmT>> 3 3—X BF 92 745 MHE EX FHE 1:37:55 49
1lkmT>> 33— BF 93 960 PR =B FHE 1:38:06 49
1lkmT>> 33— BF 94 747 R Mk sz B2 12 1:38:08 63
1llkmT>>aAfa2—X BF 95 718 BIE ZEE 1:38:10 57
1lkmT>> 33— BF 96 756 B = FHE 1:38:25 56
1lkmT>> 33— BF 97 906 DI G ZEE 1:38:45 56
1lkmT>> 33— BF 98 985 (U N e o ZEE 1:38:55 35
1llkmT>>aAfa—X B 99 979 g & ZEE 1:39:04 43




1llkmT>>aAfa—X B 100 1003 +58 BX zE 1:39:18 26
1llkmT>>aAfa—X B 101 711 e BB zE 1:40:05 68
1llkmT>>aAfa—X B 102 974 TNEE  HEE zE 1:40:15 52
1llkmT>>aAfa—X B 103 849 A R HME 1:40:47 54
1llkmT>>aAfa—X B 104 1057 KBp  HEARER H5E 1:40:56 8

1llkmT>>aAfa—X B 105 1050 mWH EE H5E 1:41:02 43
1llkmT>>aAfa—X B 106 701 BFE & AE 1:41:06 60
1llkmT>>aAfa—X B 107 942 e #BF H5E 1:41:09 11
1llkmT>>aAfa—X B 108 826 NE R zE 1:41:15 39
1llkmT>>aAfa—X B 109 1041 MHE %z zE 1:41:31 12
1llkmT>>aAfa—X B 110 749 ke B HME 1:41:42 54
1llkmT>>aAfa—X B 111 1052 A Kih zE 1:41:42 8

1llkmT>>aAfa—X B 112 1048 LA THANH TAN zE 1:41:44 29
1lkmT>>aAfa—X B 113 707 ARFE 2B zE 1:41:53 62
1llkmT>>aAfa—X B 114 1040 MH B& s5E 1:41:54 41
1lkmT>¥Y 3/ 3—X B 115 847 BH KRB 1:42:20 53
1llkmT>>aAfa—X B 116 869 LR B— 1:42:20 49
1llkmT>>aAfa—X B 117 833 THb BRI 1:42:23 46
1lkmT>>aAfa—X B 118 946 Ht R 1:42:26 39
1lkmT>¥Y 3/ 31—X B 119 970 JEHE #®BA 1:42:37 52
1lkmT>¥Y 3/ 31—X B 120 987 EE EF 1:42:47 39
1llkmT>>aAfa—X B 121 821 =B iR 1:42:49 33
1lkmT>¥Y 3/ 31—X B 122 820 =iE BKE 1:42:49 67
1lkmT>>aAfa—X B 123 971 i B 1:43:00 50
1lkmT>>aAfa—X B 124 867 HiE 2R 1:43:47 57
1llkmT>>aAfa—X B 125 919 EE RE 1:44:04 48
1llkmT>>aAfa—X B 126 892 PR AT 1:44:14 36
1lkmT>¥Y 3/ 3—X B 127 838 R TR 1:44:28 35
1lkmT>>aAfa—X B 128 778 B} K# 1:44:36 51
1lkmT>>aAfa—X B 129 1038 )l 2% 1:44:49 52
1llkmT>>aAfa—X B 130 1063 fEH  (R—Bj 1:45:34 48
1llkmT>>aAfa—X B 131 1033 Mok Mk 1:45:40 24
1lkmT>>aAfa—X B 132 901 BLLE =t 1:46:00 46
1llkmT>>aAfa—X B 133 965 TR =T 1:46:18 44
1lkmT>¥Y 3/ 3—X B 134 1047 A FE 1:47:07 0

1llkmT>>aAfa—X B 135 742 KA TEER 1:47:27 70
1lkmT>>aAfa—X B 136 929 B E# 1:48:52 52
1lkmT>>aAfa—X B 137 938 FH AN 1:49:01 48
1lkmT>>aAfa—X B 138 791 KB RBE 1:49:16 43
1lkmT>>aAfa—X B 139 871 B0 =B 1:49:34 39
1lkmT>>aAfa—X B 140 921 a5 1:50:07 13
1llkmT>>aAfa—X B 141 863 e A 1:50:49 45
1llkmT>>aAfa—X B 142 925 KB BA 1:51:04 10
1lkmT>¥Y 3/ 31—X B 143 1049 BE A 1:51:04 44
1lkmT>>aAfa—X B 144 899 JIEE Feak 1:51:31 53
1lkmT>>aAfa—X B 145 907 2 KR 1:51:58 54
1lkmT>>aAfa—X B 146 927 Sulh BE 1:52:05 49
1lkmT>> a3 3—X & 147 893 KHE AF 1:52:19 36
1lkmT>>aAfa—X B 148 926 R EXR 1:52:22 12
1lkmTZT>¥Y a4 a3—2X 149 924 K BEA 1:52:24 43




1lkmT>»¥afa—2 B 150 861 AR &R = 1:52:27 46
1lkmT>»¥afa1—2 B 151 939 EH —% = 1:52:29 64
1lkmT>»¥afa1—2 B 152 831 = K = 1:52:34 52
1lkmT ¥ a4 a1—2 B 153 852 bR EX = 1:52:39 51
1lkmZ>¥a/a3—X B 154 981 FE s = 1:53:05 29
1lkmZ>¥a/a3—2X B 155 1024 P K = 1:53:05 29
1lkmT>»¥afa1—2 B 156 1044 R X2 = 1:53:13 64
1lkmT>»¥afa1—2 B 157 771 Tl &= = 1:53:38 54
1lkmT ¥ a4 a1—2 B 158 1029 YSIIIE-IN = 1:53:42 28
1lkmT>»¥afa1—2 B 159 918 =i Ak = 1:54:02 46
1lkmZ>¥Ya(31—X B 160 873 B Mx = 1:54:37 50
1lkmZ>¥Ya(3—X B 161 797 EH O FHE = 1:54:46 63
1lkmZ>¥a/a3—X B 162 983 (I 7354 =& 1:54:50 11
1lkmZ>¥a/a3—2X B 163 982 g % =& 1:54:51 44
1lkmZ>¥a/a3—X B 164 761 FE B® =& 1:55:03 44
1lkmT>»¥afa1—2 B 165 739 =5 #BEA =& 1:55:29 73
1lkmZ>¥a/a3—X B 166 1018 HiF B = 1:55:57 35
1lkmZ>¥ a4/ a3—2X B 167 997 (NESN i} = 1:55:58 35
1lkmZ>¥a/a3—2X B 168 986 Rt K 7 1:56:08 39
1lkmZ>¥a/a3—X B 169 723 Wi E— 7 1:56:13 54
1lkmZ>¥a/a3—X B 170 1007 IR EE = 1:57:27 10
1lkmZ>¥a/a3—X B 171 977 WA FHi = 1:58:12 52
1lkmZ>¥a/a3—2X B 172 1006 B B = 1:58:37 37
1lkmZ>¥a/a3—2X B 173 932 L s = 1:58:42 46
1lkmT>»¥afa—2 B 174 856 JIF BEEL = 2:00:09 54
1lkmT>»¥afa1—2 B 175 829 xa EZ =7 2:00:09 50
1lkmZ>¥a/a3—X B 176 1015 B Wk = 2:00:50 59
1llkmTZ> Y344 a2—X & 177 732 [l N = 2:01:25 43
1lkmZ>¥a/a3—2X B 178 814 INFR - FBR =& 2:02:01 67
1lkmZ>¥a/a3—X B 179 704 BREE E& =& 2:02:59 65
1lkmZ>¥a/a3—X B 180 819 L s =& 2:03:14 60
1lkmT>»¥afa—2 B 181 768 B Eh == 2:04:20 47
1lkmZ>¥a/a3—2X B 182 953 AR =F =& 2:05:09 42
1lkmZ>¥a/a3—X B 183 1059 TR BE AN 2:06:29 8

1lkmZ>¥a/a3—2X B 184 758 FEE EE =& 2:06:42 38
1lkmT ¥ a4 a1—2 B 185 951 FE = =& 2:07:18 46
1lkmZ>¥a/a3—2X B 186 840 Nt S =& 2:07:23 35
1lkmZ>¥a/a3—2X B 187 782 FRER  &3M =& 2:07:35 76
1lkmT>»¥afa—2 B 188 788 MAd EX =& 2:10:05 38
1lkmZ>¥a/a3—2X B 189 1028 L B =& 2:10:06 40
1lkmZ>¥a/a3—X B 190 923 R EER =& 2:10:26 45
1lkmZ>¥Ya(3—X B 191 1020 ik Zie Iz & 2:10:32 50
1llkmTZ>¥Y a4/ a2—X & 192 810 FE RiA = 2:10:46 54
1lkmT>»¥afa—2 B 193 876 GIE SRR =& 2:11:19 59
1lkmZ>¥a/a3—2X B 194 980 HE Bt AN 2:12:12 47
1lkmT>»¥afa—2 B 195 865 WK =& 2:12:19 80
1lkmZ>¥a/a3—2X B 196 1013 =5 At == 2:15:12 44
1lkmZ>¥a/a3—2X B 197 1021 WA mE— =& 2:16:06 36
1lkmZ>¥a/a3—X B 198 1062 A Az == 2:17:49 49
1lkmZ>¥ a4 a—2 199 1004 KB HES = 2:18:29 43




llkmZ>»>a(a—X BF 200 909 a5 B EbSIS 2:18:46 33
llkmZ>» > a(a—X BF 201 886 AR @A FHE 2:21:31 37
llkmZ > a(a3—X BF 202 989 LBl B FHE 2:22:57 28
llkmZ > a(a—X BF 203 988 £ AKX EbSIS 2:22:58 31
llkmZ>» > a(a3—X BF 204 738 EH A =88R 2:23:05 64
llkmZ>»>a(a—X BF 205 877 WA #F2 EbSIS 2:23:08 53
llkmZ>» 2 a(a3—X BF 206 769 Pl i v FHE 2:27:13 72
llkmT>¥ a4 a3—X 5 207 912 RKAR 154 —&HE 2:30:46 52
llkmT>¥ a4 a3—X 5 208 766 FE BUL FHE 2:32:26 58
llkmT>¥ a4 a3—X 5 209 902 g Az FHE 2:38:00 48
llkmT> ¥ a4 a3—X 5 210 999 wRE =88R 2:42:54 39
llkmT>¥ a4 a3—X 5 211 1017 tH #a =88R 2:42:54 49
llkmT>¥ a4 a3—X 5 212 1061 EA = EbSIS 2:44:52 60
llkmT>¥ a4 a3—X 5 213 943 B BES =88R 2:53:13 56
llkmZ>» ¥ a( 31— TF 1 1060 By = FHE 1:11:15 41
llkmZ>» ¥ a(a3—X TF 2 801 BEAR EiLT —&HE 1:14:55 47
1llkmZ ¥ a(a3—RX TF 3 961 e RET =88R 1:16:05 44
llkmT> ¥ s 3—X XF 4 916 BH X =88R 1:17:12 25
llkmZ ¥ a( 31— TF 5 872 HE £=% =88R 1:20:32 47
llkmT>¥ s 3—X XF 6 836 KE B HE R 1:21:58 17
1llkmZ >y ¥ a(a3—X TF 7 864 ZEE TR I B2 12 1:22:30 53
llkmZ ¥ a(a3—X TF 8 841 k] EbSIS 1:22:57 26
llkmZ ¥ a( 31— TF 9 827 BREE HCRE =88R 1:24:08 12
llkmZ ¥ a(a3—X TF 10 882 =H EX =88R 1:24:36 51
llkmT>¥ s 3—X XF 11 753 2 IVIF =88R 1:26:17 48
llkmZ ¥ a(a3—X TF 12 966 Ng Fiz =88R 1:27:42 53
llkmZ ¥ a( 31— TF 13 817 1% i =88R 1:29:06 38
llkmZ ¥ a( 31— TF 14 837 KA BIE HE R 1:30:29 17
llkmZ ¥ a(a3—X TF 15 764 FH #E I B2 12 1:31:06 59
llkmZ ¥ a(a3—X TF 16 854 YEH EhiE =88R 1:31:41 45
llkmZ ¥ a(a3—X TF 17 812 KE HEF FHE 1:31:46 49
llkmZ ¥ a( 31— TF 18 1053 ZH  F =88R 1:31:50 9

llkmZ ¥ a(a3—X TF 19 853 N Y —&HE 1:31:50 10
llkmZ ¥ a(a3—X TF 20 859 =25 BT =88R 1:32:18 44
1llkmZ >y ¥ a(a3—X TF 21 992 BEH LT FHE 1:32:37 45
llkmZ>» ¥ a( 31— TF 22 945 HE FE EbSIS 1:33:06 11
llkmZ ¥ a( 31— TF 23 866 KH = —&HE 1:34:16 49
llkmZ ¥ a(a3—X TF 24 990 i FHE 1:34:32 29
llkmZ ¥ a(a3—X TF 25 894 T =88R 1:35:48 66
llkmZ ¥ a(a3—X TF 26 714 e BT =88R 1:35:53 48
llkmZ ¥ a(a3—X TF 27 858 SRS =E5E 1:37:00 39
llkmZ ¥ a(a3—X TF 28 794 BE Ivh I B2 12 1:37:01 42
llkmZ ¥ a(a3—X TF 29 940 RS REBNT 1:37:48 48
1llkmZ >y ¥ a(a3—X TF 30 910 FO RKRT FHE 1:37:58 40
llkmZ ¥ a(a3—X TF 31 786 KB HEE B 1:38:04 51
llkmZ ¥ a(a3—X TF 32 883 g BT FHE 1:38:51 57
llkmZ ¥ a(a3—X TF 33 1056 EUIGS =B8R 1:39:09 9

llkmZ ¥ a(a3—X TF 34 1037 mRE B8R FHE 1:39:44 48
llkmZ ¥ a(a3—X TF 35 783 AREE 227N —&HE 1:39:55 13
llkmZ ¥ a(a3—X TF 36 888 HZO EF FHE 1:40:29 52




1lkmZ>Y a4 3—X LF

37

816

BPH T

1:40:37

1lkmZ>¥Y a4 32— LF

38

802

A EiEF

1:41:56

1lkmZ>¥Y a4 a3—X LF

39

796

BEH TET

1:41:58

1lkmZ>¥Y a4 32— LF

40

1046

w1

1:41:58

1lkmZ>¥Y a4 3—X LF

41

936

R L%

1:42:54

1lkmZ>Y a4 3—X LF

42

944

HLE ¥

1:43:08

1lkmZ>¥Y a4 32— LF

43

1036

TE #EX

1:43:38

1lkmZ>¥Y a4 a3—X LF

44

903

hA i

1:43:40

1lkmZ>¥Y a4 23— LF

45

868

Na HEF

1:43:47

1lkmZ>¥Y a4 23— LF

46

860

Hit® HERE

1:43:52

1lkmZ>¥Y a4 3—X LF

47

746

AR BT

1:43:59

1lkmZ>¥Y a4 32— LF

48

959

ZH EET

1:44:56

1lkmZ>¥Y a4 23— LF

49

818

HhE DA

1:45:30

1lkmZ>¥Y a4 23— LF

50

885

ol

(A E

1

1:45:34

1lkmZ>¥Y a4 23— LF

51

809

g

1:45:37

1lkmZ>¥Y a4 32— LF

52

845

PR

FE | et
| M [N

1

KA

1:47:32

1lkmZ>¥Y a4 32— LF

53

1000

KA HE

1:47:32

1lkmZ>¥Y a4 23— LF

54

1034

mORTF

1:47:35

1lkmZ>¥Y a4 32— LF

55

947

g KE

1:47:47

1lkmZ>Y a4 23— LF

56

813

Bl aXRT

1:49:00

1lkmZ>¥Y a4 23— LF

57

808

IR BT

1:49:28

1lkmZ>Y a4 3—X LF

58

799

R BE

1:50:03

1lkmZ>¥Y a4 23— LF

59

1042

KB DA

1:51:01

1lkmZ>¥Y a4 32— LF

60

956

B XM

1:52:03

1lkmZ>¥Y a4 23— LF

61

905

A BE

1:52:06

1lkmZ>¥Y a4 23— LF

62

784

S =&

1:52:31

1lkmZ>¥Y a4 23— LF

63

835

hA ME

1:52:51

1lkmZ>¥Y a4 23— LF

64

878

a8 BT

1:53:25

1lkmZ>¥Y a4 32— LF

65

933

B e

1:53:34

1lkmZ>¥Y a4 23— LF

66

874

FHE NS

1:54:37

1lkmZ>¥Y a4 23— LF

67

785

Sl e

1:54:45

1lkmZ>¥Y a4 23— LF

68

839

RAR =RKF

1:55:20

1lkmZ>¥Y a4 32— LF

69

887

1:55:38

1lkmZ>Y a4 23— LF

70

973

1T T
mgE &

1:57:36

1lkmZ>¥Y a4 32— LF

71

900

a7
A T8

1:57:40

1lkmZ>¥Y a4 32— LF

72

744

W BET

1:57:44

1lkmZ>¥Y a4 23— LF

73

890

1:58:05

1lkmZ>¥Y a4 32— LF

74

922

1:58:22

1lkmZ>¥Y a4 23— LF

75

737

1:58:58

1lkmZ>¥Y a4 32— LF

76

828

1:59:02

1lkmZ>¥Y a4 23— LF

77

774

1:59:39

1lkmZ>¥Y a4 23— LF

78

857

2:00:11

1lkmZ>Y a4 23— LF

79

934

110 (e [ [ 2 | He | fB | 25 |4 | e

2:00:20

1lkmZ>¥Y a4 23— LF

80

1035

TE G

2:00:50

1lkmZ>¥Y a4 32— LF

81

955

B Bx

2:01:01

1lkmZ>¥Y a4 23— LF

82

765

FH HmM@ET

2:01:33

1lkmZ>¥Y a4 32— LF

83

972

WE T

2:01:41

1lkmZ>¥Y a4 32— LF

84

917

L=

2:02:49

1lkmZ>¥Y a4 23— LF

85

725

EH BE

2:03:09

1lkmZ>Y a4 23— LF

86

751

Flll E¥

2:07:23




llkmZ>» ¥ a( 31— TF 87 750 AH E3h —&HE 2:08:35
llkmT> ¥ s/ 3—X ZF 88 1055 ER HALT =88R 2:10:18
llkmZ ¥ a(a3—X TF 89 1012 B/ 07 =88R 2:10:25
llkmT> ¥ s/ 3—X ZF 90 759 NEHE BE& =88R 2:11:34
llkmT>¥ s 3—X XF 91 760 M —&HE 2:11:34
llkmZ>» ¥ a(a3—X TF 92 815 £ =/ I B2 12 2:12:48
1llkmZ ¥ a(a3—RX TF 93 898 AR B FHE 2:13:02
llkmZ ¥ a(a3—X TF 94 884 EME =88R 2:17:03
llkmT>¥ s 3—X XF 95 717 tE IE —&HE 2:17:03
llkmZ>» ¥ a( 31— TF 96 967 ®E ER I B2 12 2:18:55
1llkmZ>» ¥ a(a3—X TF 97 930 A ERF =RE 2:22:16
1llkmZ ¥ a(a3—RX TF 98 755 T AE EbSIS 2:22:31
llkmZ>» > a( 31— TF 99 805 G ES —&HE 2:22:53
llkmZ ¥ a( 31— TF 100 875 M & =88R 2:23:07
llkmT>¥ s a3—X XF 101 752 K& BT —&HE 2:24:47
llkmZ>» ¥ a(a3—X TF 102 1005 PR EBR —&HE 2:26:36
1llkmZ ¥ a(a3—RX TF 103 889 '/ T& EbSIS 2:37:04
llkmZ>» > a( 31— TF 104 842 KA T EbSIS 2:37:04
llkmZ ¥ a( 31— TF 105 855 JIE BHIEF EbSIS 2:37:04
llkmZ ¥ a(a3—X TF 106 1014 M)l LT —&HE 2:42:54
1llkmZ >y ¥ a(a3—X TF 107 891 g RT =88R 2:43:20
llkmZ ¥ a(a3—X TF 108 1058 Sy FHIE 2:52:16
llkmZ ¥ a( 31— TF 109 740 =5 AET —&HE 3:08:52




